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09132200 phhq[h qphdfrmd uu t 400 750 300.0
09211000 puurlnr-r1hp h puurblntphp uu I

L 2000 15 30.0
09211400 rhnluurtrgriurh tnmrlrlr lnqhp uu I 2s00 4 10.0
18141100 ur2luurururhprul|rh &hntrngLhp uu unlrJr 3000 10 30.0
t842L130 &hnhnghhp rntnnhuur\urtr uu hunn 250 30 7.5
18111000 {ugturq}ruru\urtr hurqmuur uu 4lrurd 40000 1 40.0
241 10000 pftifrur\urtr urpururqpur\urh qurqhp uu d3 3000 L66 498.0
241 1 1800 tuqnrn hhrlm\ uu t 500 t29 64.5
24326000 urghurnh uu tJr-p 1200 10 12.0
30125100 purpurplr2hhp h umhhphhp UU hurn 5000 13 65.0

22820000 &hurprphp uu hunn 5 50 0.25
30197631 Ianr-rya,A4 $npdunnfr uu hunn 1850 50 92.5
30197631 Fmqld \q2nr-l: uu hunn 500 65 32.s
30192127 qrblqhh\ulqnp uu huln 100 100 10.0
30792137 ilunnhrn qnur$hurh rfh2nr-\n{, hururupru\ uu hurtn 200 10 2.O
301927!0 unutr&unfulnlru, qpuruhhl urk*: hlt uu hruu 200 10 2.O
30197234 pqptuqurtrur\ \n2ur \urqtln{ UU huln 700 20 14.0
30t97231 S*tt uu urnr-rh 10 1100 11.0
3019723L faqpurulurtrur! $ur1lhpml /1 O$ur3y' UU hunn 400 5 2.0
30t97237 faqFurqurhru\ $ur; thpnrl /aO$ur/ UU hurur 1300 4 5.2



btzst faqpurqurhur\ $ur1 thpnrl uu
uu

hurur 300 10 3.06tgzrco 2rnpfiuhhp hruur 300 5 1.5/zotgzagt
fdnlrya urulurqpur\urh UU untrlr 10000 5 50.030192780 h2urpurdurtrlr2 uu hurut 320 10 3.239241210 u yI uur qFutu tr ulur qurl nU UU hunn 650 2 1.339263400 uilpur\hhp UU umtrfr 400 4 1.6

39263510 uhr1rfurQ, rlrnpp UU hurur 30 25 0.7539263510 luLurl, ulrzlru uu hunn 100 36 3.631681300 L''rrr uufrpF qhururllrhp h utuhdurhhn uu 4Duld 400000 L 400.031681300 h'tlI}-h uutiqhp uu hunn 8000 20 160.03t7Lt!40 u-lt UrururJpu uruppurqnnilur[ h hhunnn uu 4Fulil 250000 1 250.03314!!t7 FurdFurlt
ulurnapn2fr2 trlmphp

uu hurur 300 20 6.033211000 uu 4nuril 350000

200000
1

7

350.0
33696550 LurFnFurnnF oduh4ur\ htmBhn uu

uu
nnunl 200.033691162 L(!lj ulr uuurlr uqrILuuJ[LIdtrF (n ilrg h uutrhn ) rlFurli 500000 1 500.033L4L129

24310000
nbilurkhhp UU hurur 120 50 6.0
nFu trru qru u urtropqurlrur llurir philhruL urh Lrnr r*h uu 4lruril 340000 L 340.0

38436500 uuYuFuurqluu luunuPl
hulfur\urpqlh Lnzrn uLullunurlr

uu hunn 37000

1 7000
1
2

37.030232231 uu huur 34.0
30236110 oq hpuurfnl hhznn ntBrmh uu huur 19000 2 38.030237rr2 uLntgrlurtr pln! UU hurur 19000 2 38.0
30234530 +LE2 hF2fflnl-plnl-tr 8 GB

hgll"q uupphp
uu hurur | 4000 4 16.0

30232000 UU I hurur 100000 z t L00.0
33761100 qnr-qurpurtrfr rdnr-np uu hurur 130 200 | zo.o31s21110 13qurp&ur\ 60X60 uu

uu
hurtn 9000 16 t44.O31512360 lnruurp&ruL 25X25

lurlq t\nLmf
hurur 5000 4 20.03L521200 uu hunn 1200 10 12.O

Lltrqurpurquru Lruuul 6OW, 80W' 100V/ uu hunn 100 20 2.031227280 hpllurpuroriurtr t urnhn uu hruur 2500 6 15.0
31321 1 10 gurop tr rllr2frir Lruptlurh ilurtnthtrhF

lunlnrlurb 2n
UU rlhrnp 250 60 15.03t7M50 uu ilhurp 900 5 4.53t71t250 lunqndull aa uu rlhrnp 450 5 2.253t71t250 iun{nqulfh louriluruhn uu hunn 450 6 2.734331300 tuuru up tr ulu u trF F trl tuh huurunluru hn uu 4nurd 100000 1 100.034911150 qur uurqur u ulurhhuururduruhp uu 4Fuld 100000 I 100.0

38431700 LulFnpulunpFurl| [urpno]r1hhp h ururnurqurhhn UU lIFuril 300000 1 300.0
38s91000 LurFnFurunF uurFp uu rlFuril 950000 1 950.0
39812600 qurppq durbntbhhn h rhnrhtrhn uu hurur 450 40 18.039831242

LrturgpF gn2fr ahnpnU trlurhrurnr_ hunfirr uu hurur 300 20 6.039831246 hhr1nil1 lrlurgnR rthqnq uu hunn 1950 10 19.539831281 uululllh tftupphl nr_ t urra uu huru 450 40 18.039831282 lurhntlp tlurpnh nr- r urn uu hurtn 600 10 6.039831283 nrurnruq fr I Uurqil.urh t urD UU hunn 500 20 10.039836000 g4lhr uu hunn 700 20 14.03983L247 urfurnunu uffl h hn nLU uurhhurhomroh (hrr nrrr fi r-, o] UU hurur 600 10 6.039831240 riurppnq hJntphp

odrun' urtrurhuutburh
uu huru 500 20 10.039831244 uu hurn 150 20 3.03983t24s odurn hhrlnr-ll UU hurtn 400 20 8.019641000 qnutrFFltrourJFtr quFq urry,f hurilurp uu hurur 1450 10 14.5



t4tojolL utnr hhrdhr hburthh ul urnb urn rh hulfurn uu hurur 320 10 3.2

1140 qunnnthurhhbp uu hurur 120000 1 120.0

44221140 4ntrhp rfhmurrlur\urh zuu hunn 485000 2 970.O

44111200 ghfhhrn uu ulurFq 2600 60 156.0

L42ttL00 ullruq uu ululnb 250 6 1.5

44322300 rfurtnr-lu hurluurtnhurlurb hhnurhnuurLruuth hurtlurn UU t[hurn 250 50 12.5

32231600 hhnurlunuurrhh hurruh uurnphn UU hurur 7s000 L 75.O

32361100 htruhntrhu huruh uurrrphn UU hurur 7s000 L 75.O

4441t740 qnrqurnurhurtnhp UU hunn 30000 2 60.0
44411300 tr]urqulnurh uu huru 13000 t 13.0

444LL120 gplr bnpur! uu hurtn 6000 1 6.0

444Lt5]l0 rlrurLurtrtrhn uu hurur 1800 3 5.4

44423680 2frhurpurpnrp3urh rih2 oqururqnpbrlnq qurhurqurh
uril ulunurhphhn

uu +Fuld 300000 1 300.0

44511000 &hnpfr qnpbbpLtp uu lpuril 100000 1 100.0

4452L120 nnurh rhurhurtrhhn uu 4Furd 40000 t 40.0

Ch4u{hhp utulpwttphhp 7532.4
Ournurlnrplnr-hhhp

45461100 2hhphpf h 2irtrntplnthLhplr Ultfourgh\ hnpnqdiutr
urztuunnurhptrhn

qz tpuld 560000 1 560.0

4531 1 12s
hhnurlunuur;ltlt qblt urhqur4pnr-rf h ttrulmluhhplr
urhqllurqntil uu rlFurd 250000 1 2s0.0

501 1 1 130
urrlurnrihphtrurbhpf {hpurhnpnqrfurh
bunurlnlalmh UU rlFruri 250000 I 250.0

50750000 {hph1u\}r rlhpurtrnpnqtturh tr qurhqurhtfurtr
burnurlnplnh uu qpurtl 100000 I 100.0

50411160 {rnp&urp\nr1 uurpphpfr {hpurhnpnqriurh h
q urhul urlnlurtr burnurlnr-Bnr-trhhn

uu rlpuni 500000 1 500.0

5071 1 100 hgt\rnpur\urh uurpphplr rlhpurhnpnqrlurh b
qruhr:lurLdurh burnurlmBtnttrhhn

UU rlFurd 1 50000 1 150.0

64111000 hurLnruthh hhnurhnuurthh burnrutntrotmh UU 4nunl 500000 I 500.0

6s111100 qnh purrhnul uu 4punl 300000 I 300.0

65311100 h .thhnqhurrh purrlunr-rl UU 4Furd 9000000 1 9000.0

6412i000 untphurh4ur\-thlt burnrulntplmh uu rlpurd 132000 I L32.O

6651 1 170 urr.lurntihphlnurh ruur urhnr] urqndiutr burnunnrrarnrh UU qFurd 35000 2 70.o

7r63t1,20
u{tnnilhphhurl[ uh]uhf \u\urh utnntqrturtr
burnurtnrptnth

UU 4Fud 10000 3 30.0

71221200 burtph run+hurburhurgdurh burnurlntBlmh UU 4Furd 400000 I 400.0

72261160
bpurqpul[h urqurhmlilruh uquruurp\rftut
burnurlnrplnth uu 41rulLt 400000 I 400.0

72212300 &urnuurnurul hrnurt urh burnurtmBtnr-hhhn 200000 I 200.0

79981100 purdurtrnnnurqndurh brunrulnrplmh uu nnurd 9000 T2 108.0

72400000 hunlurqurtrqurthh Eurnurrmprnr-hhhn uu 4purd 470000 1 470.O

79131300
h1h\tnpnhuil|rh urnnpurqpntp3urtr
hun] unnurnilurqndultr brunurtntrarnr-tr

uu rlFurd 3100 1 3.1

79223000 rfurpuur3|rh rlhZt ontft (ppnphp) Eurnurlnr-plmhhhp UU rlFult 200000 I 200.0

79811000 rnut uqnulL urh burnurrnr-rarnrh UU nFuld 100000 1 100.0

90921100
urluururhurlrtlurh h tfur\urpnr-3 btrhplr njr2urgdurh
brunrulnrralnttrhhn

UU \puril 180000 1 180.0

90s11100 urqpfr hur{urprfurh burnurlnr-p1mh uu qpuril 360000 I 360.0

09331400
upLulfrb tLhpqfur3ir uuurgrfiub hurdur\uipqlr
hurhurcbnrf h urhnurnnntrl

qt
+Fuui 0 I 0

48441300 hru2r]urrqurhurburh hurtturburnqlurthh Enruqnurthh uu r1puril 125000 1 L2s.0
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Urqpurbptrhp

03111280/1 lurntlnt\ (htnmb orhqnrthnurrhh) q2 hunn 1000000 1 1000.0

03111280/2 \urmpt\ (pnrpru4]rhtr-hfrurpfrl ur1]rh) qz hunn 20000 10 200.0
03111280/3 llurnr-ym\ (pnrpur4hhtlulthh) qz huru 20000 10 200.0
031 1 1280/4 \urnr-ynrL1 (r4n1 |rnr-phururtrurthtr) qZ hurtn 20000 10 200.0

03111280/s qnfrilhplrqushulth \urunulfrurqrnnp qz urnl+ 100000 3 300.0
03111280/6 llrumlnr-I1 (alrfrq nglrurtrunntrtp) q2 urntrh = 100000 3 300.0

14s21110 rlhuurnhhnh rhnrhhhn uu hurur 1s00m I 150.0

14821000 uruurLh qZ ,l/p 6000 50 300.0
19521500/1 luhd (kqopuhnurrhh) uu hurur 20000 10 200.0
19521500/2 luhd ($hbot $optfurl 4hhfr4url|rL) uu hurur 20000 10 200.0
2431 1 190 ppmhhp uu hunn 50000 10 500.0
24321660 qurhurqurh onqulhuhurtr philhurturh hrnr-nhn uu hurur 30000 f 150.0

24321340 hnurhnr, ndrburturl: UU hruur 50000 I 50.0
30211200 ntnr-nurh hn hurilurL urnqhlhhn q2 hunn 400000 4 1600.0

30211120 qhphurilur!urpqfrl SZ hurtn 2000000 1 2000.0
30211190 hunlurhurnqhrhhn gZ hutn 400000 A

= 1600.0

30211280 hunlurhurnchl urtfnnlqn rihlrnr-rf q2 hunn 220000 8 1760.0

30232110/1 rurqhnulrhh ururh/ A3/ qz hurur 400000 1 400.0
302321t0t2 rurqhnurrhh uuth) /A4l qt hurur 120000 3 480.0

30232tr0/3 t urqhnurrhh uut ht qnrLunlnn/A4l q2 hunn 200000 I 200.0

3023711211 uhar-grftutr p1n\ / 2500.{tV 'tz. huru 300000 8 2400.0

30237tr2/2 uhntgdurh pln\ / 5000.{LV sz hurur 1000000 1 1000.0

31211430 dh\upru\urtr r{urhurhur\trkp uu hrlur 30000 20 600.0

3l2tt22l urhpunnhlhhn UU huru 2500 20 50.0

3t52r560/L
urprnurpfrh lnruurtlnprlurh lurf qhp /urphurlfrtr
rlurhrutrur\m/

uu hunn 20000 t2 240.0

31521560/2
urpururplrtr lntuur{npilurh lurttqhp /urphurl}rL

durhuhurllml/
uu huln 5000 24 120.0

31s21360 \hlltnpurllurh lunft4 uu huru 7000 30 210.0

31684400/r rlurpaurlhhp /220i/ uu huru 2500 40 100.0

31684400/2 rlurn+urbtrtn /38011 / uu hurur 10000 20 200.0

31711400 hr hbunnhurrhtr hhtntqnrur uhhriurhhn uu 4purd 980000 1 980.0

hnqur\gilurh \nhurntp uu hunn 500000 I 500.0

33691160/1 phrihurburh urq4urhlntrahn /nhruqhtruhhn/ qz hunn 500000 1 500.0
33691160/1 hurtnmb phdhurburh ulqnurhlmphn /nhurqhhrntrhn/ q2 hunn 400000 I 400.0

33791300 luFnnruunp urulurhlur urnururnnurhp q2 nnunl 1000000 t 1000.0



J491t230
burluuru3|rh tr3nrphp h qurhhuuruniurubp
(ppnilunnnqpruSlnullurh rlurqurhnpur3]rh ru2tnurpurll,
30-60il)

qz hurtn 720000 1 720.0

349r1230/t
Eurluuur3]rh h3nrphp h qurhhuurunfuruhp
(hhq".h*$ruq ppnrfunnnqpur$frurlurh urlururnurt )

q2 hrutn 1200000 I 1200.0

349II230/2
brufuuur3frtr trlnrphp h ulurhhuurunluruhp
(h\ru-\urSurq ppnilurtnnqpru$]rur\urh
trurfuurur2ururpur\)

qz hruur 900000 I 900.0

34911230/3
burluuurl|rtr trlntphp h qurhhuunudurutp
(hhrlnr\ur$ruq ppmlururnqpurghurh urh hurthudtrrhr)

n2 hurur 1200000 1 1200.0

35t2r290/6 urftrytrhp dtr2riurtr (160 unnil) sz hunn 2992s 4 119.7
35t2I290/7 u{hfhhp dtr2rlurtr ( 250 ururt) qz hurur 29925 4 t19.7
35121290/8 grlhfhhn dtr2riurh (400 urtntf ) sz hrurn 2992s 4 119.7
35121290/9 urfir2trhp dh2ilurtr (1000 unnri ) qz hurur 29925 4 rt9.7

35t2L290/10 urdlrjrhp (purn&n dtr2rlurtr ) qz hurur 61425 2 r22.8s
35I2t290/11 unlh:hhp (p*n&p dtr2tlurtr ) sz hunn 62000 2 124.0
35121290/72 g{f2hhp (p*p&p dh2durtr ) SZ hunn 6142s 2 t22.85
35121290/13 trr.fr2hhp (purn&n dtr2rturtr ) q2 hrurn 560000 I 560.0
35121290/14 ud|1Lhp (purp&n dtrzriurtr ) qZ hurur 640000 I 640.0

31620000 &u1hu1[rh ruq4urtr2urlnul]rh uurpun]npnnftrhn SZ hurtn 4700000 I 4700.0
351 1 1 170 hn+hhtr r.Iurprfurh hurdur\urpq /200-30$12/ qz hunn 1450000 1 r450.0

3s120000
hu\nr1nr-plutr h urlnltmuhqmplurh hurtfur\urpqhp h
llurFphlr

qZ huur 12900000 1 12900.0

38311300/1 dh\urpnLurl|rL rnhlutrlr\ur\urtr \2hnphhp /. 5 \q sz hruur 178000 3 534.0
38311300/2 dh\upntrurS|rtr urhluhfr\ur\urh !2hnptrhp /< 30 qq/ qz hunn s0000 2 100.0
38311200 h1h\urpntrurl frh {hplntur\urtr \2hnp hhp qt huru 37700,O I 377.0

3831 1200/1 hgh\r.npnhurS]rh rlhplntEur\urtr \2hnptrhp qz hurur 2500000 I 2500.0
38431610 |uurnhf lrhp itf ruqlifruur\urtr/ qt hrurn 200000 2 400.0

3842t140/r 6h2ilutr 2ullnlurh urupphp

/rfnhmfhurp oplrtrurll\ ir 25 U'IIu/
q2 huun 345000 I 345.0

3842rI40/3 &h2durh 2ulflturh uurpphp, forl*thtr qz hurur 254520 I 254.52
38421,t40/4 &h2rfurh 2unlrlurh uurpphp, fo{urt}rlr sz hurur 254520 I 254.52
3842tr40/5 2u$durh uurpphp qz hurur 194670 1 r94.67
3842rt40/6 2urfnturtr uurpphp SZ hunn 194670 1 194.67
38431570 2hnnqlr2 uurllr\hhp q2 hunn r0000 2 20.0

38411400/1 ]untrun{uryurr}rhp (untrur,l*:-S \2hnp-hrulnqhhurl}rtr
lunfrqml uurBurg{nq)

q2 hurur 840000 1 840.0

38417400/2 funhun{ur2urr}rhp (iunhurrl*t*t hZhop-
fh$pu\urprflrp pniulnq ururpurorlnn ) qz hurtn 840000 1 840.0

38411800 \nlnpfrurlulfr DSC/ q2 hurtn 9200000 1 9200.0

384316i0 ]uunhlr2bhp
(hpululnlrnurhq pfrurlullnn iuurntrhltrhn) qt hurur 1500000 3 4500.0

38431610/1 hih\upurlutr rftrppurtnnp qZ hurur 850000 I 850.0
38431160/1 ppnrlururnqpurQhhp qz huur 9500000 I 9500.0
38431160/2 ppmiulnnqpu$hhp q2 hurur 10000000 1 10000.0
38431190 uqhQurpntf hurptp tru hurur 0 I 0

385 1 1 120 u\urhunlnpnq hlh\upnLurlfrtr riurtrpur+h**1t ZF
U hunn 73900000 1 73900.0

38s91300/i LurFnpurunp qtt+urtlth urqurg tru hurtn 700000 1 700.0

38591200/1
p[ilfur\urtr LulFnpurunp]rurlnr-il l1hp*orlrrt urupptp
(qurpf-$hZtnh |rtrphur2|uurtn rnlrtnpruunp) tru hunn 4800000 1 4800.0

38591200/2
p|il|ru\urh LulFnpurunFlrurlmri \hn*.I".t uurpphp
(hururnr-\ l{ntrqr.npnr-\gfrurl}r qprtrurilhpttlu)

ZF
u hurur 4500000 I 4500.0

38s91200/3 pbilbultulL turFnpulunpfrurlmri lfhp*"rlrq uurpphp tru hunn 60000000 1 60000.0



/ (phprinqpunllnfhurpur\ruh urhurfrqrurnnp TGA
huniur\grlurb $n4hlr dLunlrnlurfrurlp |rtr$pur\urprifrp
uu1 h\rnpurl nruurlullrlr (FIIR) hhrn)

38591200/4

plril|rur\uh lupnprutnoplrur3ntil \|rprumlnrl uurpptp
(ptpilnqpur{lrdkurpur\ruh u[rtrppntr urhurfrqurunp
TSA hullur\gquE bh$puqurpilbp
uul ht urrrurt nruurturfih hbur)

trU huru 0 I 0

38591200/5
plttfur\uh lurpnpurtnnplrurlmrl \]rpurn{nq uurpphp
(uurnnhnh (C, H, N, S, O) phdhuburh urhurrhqunnnn) trU

hrutn 9000000 1 9@0.0

38591200/6

pfilfur\uh lurpnpurunplrur3nr-rf \|rpurntlnrl uurpphp
(Ohhuqhtrluh alSpu\unilhurp (X-Ray

Diffractometer) tru
hrurn 30000000 I 30000.0

38s91200/8

plrillru\uL lurpnpunnnplrurlntd \|rprumlnq uurpptp
(dtr2riurtr, ]untnurlntplurtr h 2hpr.fruuurlrdrutrlr 2ullrlr2
tn{h> {uhuhull) trU

hrurn 50000 10 500.0

38s91200i9
pfdfu\ub lurpnpurunplrur3nui $rprunr{nr1 uurpphp
(tninr-thhnh $hqdhh rlrnn&urnhdurh uurnp)

ztr
u hurur

4200000 1 4200.0

38591200/10
p[il[ur\uh LurFnpururnp]rurlmri \hp*".I"q uurpphp
finfnr-ahtnh trhrlurrurhurh rhnn&urntrfuh uurnp)

ztr
u hurur

3120000 1 3120.0

38591200/11
plrilfur\ub LurFnpurunplrur3nr-rl \ltn*".I"q uurpphp
(urLnB' Furn&n dtrurfrutr) tru hurur

3000000 2 6000.0

3859t200/L2
pltffur\uh lurpnpruurnplrurlnttt \|rprunrlnq uurpptp
(uramnh ehtrhnurtnnn) tru hurtn 6000000 I 6000.0

uupphpfr uunr-qur2unfrilurh uururh4urpur hdm2trhp UU hurn 100000 10 1000.0

39181100/1 tuFnpurunpfrurl|r uh4urtrhhp (plrrffrur\urh uhrlurh) qz hurur 300000 6 1800.0

39181100/2 lupnpurunF]rurl]r uhrlurhbhp (S[q[\u\urtr utquih) sz hutur" 300q00 6 1800.0

39181 100/3 turFnFurunFlrur3|r uhqurhhhp (plril|rur\urtr uhrlurh

hqqI,**hnt)
q2 hurur 750000 2 1500.0

39121100 qpuru\ruhhhp qZ hurur 100000 15 1500.0

39121520 qpurulurhurpurtrtrhp qz hurur 100000 f 500.0

39111180 urpnn qnuruhhurhrurhtr q2 hunn 8000 50 400.0

39563800 o4uulrnlurlurtr ]unrlntlur\ur2urphp (hntlurtrng phphqlu) UU hurtn 30000 10 300.0

39713432 $n2h\nr-1 UU hruur 70000 2 140.0

397T4200 orlnFurtih) uu hurur 200000 4 800.0

42L2t370/l rlurllnutrlurl|rh rqnilqhp /2HBP -5 AM/ qZ hurur 750000 1 750.0

42t21370/2 rlur\nr-nr-rfurlfrh qnilqhp q2 hurtn 350000 2 700.0

42t2t690 rlurhnr-nr-t[urthtr ulmtulhnh ilruuhn /rhurlrurtr/ qZ hurur 60000 10 600.0

42631160 orlurdtr2]r1 Gth+nut{fth) rlunlftr2trhp qZ hrurn s00000 2 1000.0

42711t90 ynprugilurh uurppur{npnr-rfirhp q2 huru 400000 3 r200.0

427rrt90 2npurgilurh uurppunlnpnrdhhp q2 hurur 550000 1 550.0

427t1190 2npurgdurtr uurppunlnpntdhhp (rlur\nuftu1frh) cI2 hurur 600000 2 1200.0

4294rt20 {ur\nuufurlfrh rlurnurpurh q2 hurur 4200000 I 4200.0

42941t60 gL\qlturh \urlnr-hur2hprfng (phprinuunlur) qz hurur 600000 I 600.0

4294t1t0 rlurnurpurtrtrhp / rin{h1ur1}rh/ q2 hunn 780000 I 780.0

4291 1 150 o+urrlrnluilurtr uurppun] npnr-dtrhp q2 hurur 500000 5 2s00.0

44t18320 Bhrahn qhbhuruturu uu i/p 5000 80 400.0

44trt400 huhmlh runruulnlurt UU rVp 2000 100 200.0

441,63140t1 pnh lunqnrlurb, 2 + uu qb/rf 450 150 67.5

44163140/2 qnh tunl|nqurb, 4 n uu qbf 900 150 135.0

44r63200 |unrlnrlur\trhplr rtlrurgltuh duruhp uu hurur 450 20 9.0

44221100 uluurmhurtrtrtp q2 {/p 40204 49 1970.0

4422ttq nnhhn q2 huru 500000 t 500.0

4422714011 qnhhp qz hunn 300000 2 600.0



,/tL70tr

44221170/2

rl"hhFh qrn2raqurhlrl gruhg

Qhpr.nuninp rttuurqrulf ruh qnh\r) qz hurtn 1s0000 4 600.0
rPr uuPlr uluzurql[uFl gurtrg
(Zhprnrurlnp rfhrnu:qruhurh rqulnnhurtrhhp) sz hurur 100000 8 800.0

44221170/2
rlnuqFp uilu2urululuFl gurUg

Ohntnunlnn rfhrnrun urburh ur nr r n n.r h rrr h h Ln \ q2 hurur 50000 4 200.0
44322200 uurtnqu, ElEqupurqurL luF uu dhurp 250 300 75.0
443223N

uurlullu uurluurntruqud FtrurhFhhururJhL \*qh
hyudurp uu rlhurp 200 500 100.0

444713W

44521770

Lr{urgurPuruotrF uu hurur 40000 10 400.0
qnlul trP utrF I E1u qrnpru 

Q ub/ uu hurur 20000 10 200.0
44611200/1 FulnuutrIr [dpqrudUF FurF&p 6L2rlurh qZ huru 2s0000 2 500.0
4461L2@/2 Furtnuuup urqnurF FruF&p dh2tfurh qz hunn 250000 z 500.0
44611200/3 FullnuuhF hhlFnrilfi Furp&p dh2rftuh q2 hurur 500000 1 s00.0
44611200/4 f ulnhhhF urpqnhh Furp&p dtr2rfurl:

Uurnur3nrpJmtrtrtp
qe hunn 500000 I 500.0

453trI5r/1 {urlraruFquuu uurppurqnpmdtrhp[ dntruurftfurh h
urhrtur4Friurtr ur2luunnurtrptrhp

q.t
4Fud 0 1 0

453ltr5r/2 turlrarupquuu uurppurqnpmilhhp[ ilnlu.nurdtiurh h
urhqurtFrlurh ur2luunnurhptrhp qz

+Furil 0 I 0
50411160 qlnFAurF qn{ uulFp hFF rihpuhnpnqrtuh h

quhqurlnturtr burnurlnrp;mtrhhp qz
11Furd 0 1 0

45231275 u uqrmu uqnlfdJu u uurpp hpfr ur hr1ur4pru_r.f
'urtrrlrmuhqnr-plurh uhtr3ur\trhpfr qur2rnqurhlr2

lnhhpruhruqruhqrfurh huuftuhurnqnil)
uu llruril - 40000p 2 800.0

45317I27 lullnwuEFF urugqugnlil UU 4Furd 990000 1 990.045421t16 glupnqF urnururnurq[ urhq ru4nnr_il UU qFuril 950000 I 950.0
71241200 hufuurqbhplr ulurnpuurnnuf, burfuuhplr qLurhururnr-rf uu 4Ful{ 990000 1 990.0
7227r180 nu2qurpqurJfru dFulqpu{frh rfrurphphhpfr ri2ur\rirutr

burnrulntplmtrhhp qt
lFuril 1000000 3 3000.0

72277735 utrFppu ounurJnqurquru gurhghp[ hurilur\urpqlu{btr
Epurqpur3|rtr rlrurphphhplr rt2urltfurh
Eurnurlnr-plmtltrhp

qZ IlFurd 0 1 0

4s400000/1 ztruptrFp u 2rrunll{murrhplr ulrraugFlr hnpnqtturh
_g2]uurnurhptrhp sz 4Furil 271090c0 1 27109.0

45400000/8 FuurnFrnnlrnF J-Fq hurFqhpf uurtrhurhqnr_Sghhplr
ptrfourshq bnpngnui q2

4Furil 1490000 I 1490.0

45261110
trturuppp oluorluluu ur2luunnuttrphhp

trhutnhtnmurh durluur\nqrfJ urh rftuuhur2hhplr
qZ 4Funi 7000000 1 7000.0

7t35r540 ghlult[\ur\urtr hu\nqntplurh burnurrmrarnr_htrhn UU {lFurd 902500 I 902.5
98111140 nEqFuul qulJfilr hu[nqmplruh Eurnrurmrarmh uu qFuril 302123 I 302.r2

Ct4rurithp
3638s0.0

Qhnr-rihhpp hruilur\urpqnrl U.U\purgurtr


